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GCSE Mathematics
,_u_.mn.:nm Tests: Set 5

Paper 2F (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

e Use black ink or ball-point pen.
¢ Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators may be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.

Practice Tests: Set 5 Regular (2F) — Version 1.0

This publication may only be reproduced in accordance with Pearson Education Limited copyright policy.
©2016 Pearson Education Limited.




Answer ALL questions.
Write your answers in the spaces provided.
<c.= must write down m:. the stages in your io_,,wmzm.
1. w@\@w people watched a cricket match.

(a) Write34 608 to the nearest thousand.

..............................................

431 of these people were children.

() Write 431 to the nearest ten.

(Total 2 marks)

_ (o™
2. A film starts at 1830.
The film ends at 2050. % SOp ™

©r \%@ kx\w&

(a) How long does the film last? —_
L-30 - & SO

Jan watches this film and then catches a bus home.

The bus leaves the bus stop 18 minutes after the film ends.
The bus takes 24 minutes to get to Jan’s home.

\.\%\M\VJ
(6) ‘Wil Jan be home before 21307 &~ 7« &7
You must show all your working.
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k\.\\g Ve .S \N \N\g.\\\\.\rgyw@ QN*AN\ % WNU\B..S (Total S marks)

Practice test paper 2F (Set 5): Version 1.0 2




3.  Harry puts sweets into bags.
He then puts the bags of sweets into boxes.

Harry puts 25 sweets into each bag.
He then puts up to 60 bags of sweets into each box.

Harry has 4200 sweets.

" Work out the least nuinber of boxes he needs:

Y ooo + 25 = (65 bags
I6C > 4o = 2.8 bexes agecleed
Laon have OF of a box

=

.......... etsbsEtsasT s s R R TR RaE

(Total 3 marks)
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Here is an equilateral triangle.

Diagram NOT
accurately drawn

¥ =205
siobes = 26 =3
S -

The equilateral triangle has a perimeter of 24 c¢m.

—— S

Three of these equilateral triangles are used to make this trapezium.

w

5 2>

Work out the perimeter of the trapezium.

AM\\.\\\ %,\. < WNU. &

76,

.................. vEismssre ey CITL

(Total 3 marks)
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100 people played sport on Sunday.
Each person played only one sport.

r—

e ———

e —

The two-way table shows some information about which sport they played.

(a) Complete the two-way table.

(b) How many women played football?

(¢) How many people did not play rugby?

100 — [

=

ateessssesrasssne

Football Tennis Rugby Netball Total
Men 2.4 ez 10 8 54
Women " 20 9 ° w AL ﬁp @
Total 44 fo 16 [ 9 100
74 :

&)

(Total 5 marks)
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6. Here is a chicken on some scales.

_________________
N\_/w 4

kilograms

=

The chicken weighs 2.5 kilograms.
(i) On the scales, mark with an arrow the weight 2.5 kilograms

(ii) Change 2.5 kilograms to grams.

L5

................ vreeerrersnsnreesseiseesenss S1AMS

e
Hafiz is going to cook the chicken.
The weight of the chicken is 2.5 kilograms.
The chicken has to be cooked for 20 minutes for each 0.5 kilograms of its weight.

He wants the chicken to finish cooking at 1 pm.

(b) At what time should Hafiz start cooking the chicken?

A5 o 5

S
NQ&\N\\»V\. X =

\\V\S — \bﬂ\\\\u\&‘\em \\.‘\NQD\\\\
- )20 pm ©

Ene (Total 5 marks)
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Ts

Mary goes on holiday to Turkey.
Mary needs to change between pounds (£) and Turkish lira. i m to= Y T

%\QGA_ 2 GO
SO = J 200

(a) On the grid, draw a conversion graph Mary can use to change between pounds and

£1 = 24 Turkish lira

Turkish lira. - - - -
'y
2800 |-
2400 [
Turkish £ W
lira 1600 | L1
1200 |10 T
800 h..nwﬂh %,r..
T % T
400 | HH-FH e T -
Rup <A NNN A RNA AN R N
OH\\",_WJ_r:L.w... 1 H NN N (RN
0 10 20 30 40 50 60 70 100
pounds (£)
(€))
Mary changes 1800 Turkish lira into pounds.
(b) Use your graph to change 1800 Turkish lira into pounds.
~ 73 =77
Y
2)
(Total 4 marks)
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8.  The cost of living index has increased _.d\ 30% from the year 2004 to zﬁ year woz

—

In 2004, Shola’s wage was £340 a week.
In 2014, his wage was £450 a week.

Show that Shola’s wage has increased by more than the increase in the cost of living index.

|20/ of D4o \
- 8% 1.2, 2u0o= 1442

GSO — S0 = )

i fE2 -
g o0 = 32.85 7
2 G

Shola’s i

T\w?\\s 200 — 2074

) nereeses! b\ 5

(Total 3 marks)
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9.  The diagram shows a solid prism.

Diagram NOT
accurately drawn

Write down

(i) the number of vertices m«U
(i1) the number of faces m

(iii) the number of edges

(Total 3 marks)
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10. Vicky counts the number of birds in her garden at 8 am on each of 10 days.

————y

5 3 3 2 0 2 4 2 ot 15
(a) Write down the mode.
-— E\\m \i ﬁ..\a.\\..»\\d\a\nﬂu) MNI
- P - - \AHV
() Work out the mean.
2+t 2 2 4 3 43+ ¥ S /S = 4T
ol LZE -
) &2 4
(2)
Vicky counts the number of birds in her garden at 5 p.m. on each of 20 days.
She records the information in a frequency table.
Number of birds Frequency
0 3 <«
1 2 <
2 3 b
3 4 | 2
4 5 2
5 3 I %
(¢) Work out the total number of birds Vicky records in the frequency table.
7240 F 12 v +75
()
(Total 5 marks)
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11.

Here is a number machine.

HEUE —>

x4

v

+3 —— Output

(a) Work out the output when the input is 5.

Sx =20 + 3

(b) Work out the input when the output is —5.

-5 - 3= -9

The input is x and the output is y.

(¢) Write y in terms of x.

RH\ A\Uﬁﬂw

L]
4 =
. -~

= 23

=

................................

................................

()

U5 + %
2)
(Total 5 marks)
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12.  Here is a solid prism made from centimetre cubes.

(a) Find the volume of the solid prism.

A cuboid is also made from centimetre cubes.

The diagram shows the bottom layer of cubes in the cuboid.

2C = &m\w&\ 77

&

/

The volume of the cuboid is 96 cm”.

(b) Find the height of the cuboid.

—

G« b7
>c = [

(Total 3 marks)
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13. There were 60 votes in an election.

There were two candidates, Jared and Beth. ‘
Jared had 18 more votes than Beth. . WW&L\V >C
..|1¢‘.\||v.|\ -+ \ % = D - ==
How many votes did Beth get? Pda~ecd > +/7F.
—

Lo = 7 + e HT

L & wxh - 5

G2 = 2 SE

r £ 2

..................................................

(Total 2 marks)

Praclice test paper 2F (Set 5): Version 1.0 13




14. Bill has some models of meerkats.

He has models of meerkat children and models of meerkat adults.
‘ : 2o
Bill has twice.as many models of meerkat children as models
of meerkat adults.
e <ail

He has a total of 30 models.

Each model meerkat child has a value of £2.80
Bill’s models have a total value of £98.00
Each model meerkat adult has the same value.

Work out the value of a model of a meerkat adult.

e —————

3© = wvﬁ meerkat
x = /O
gdu/?s =10 chi ) Hen = 20

7 €O o Chid mes

280 56
i

glele

A<t mocle 8.

o

\)

ddalt fotal = T67SE

3d_ $4.70
o

..........................

(Total 4 marks)
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15.  Sue is driving home from her friend’s house.

Sue drives

10 miles from her friend’s house to the motorway

wgos.&mmo:ﬁroaoﬂoméﬁh - \
5 miles from the motorway to her home & ¢ 242 £5 = N S W \-\N\\NM

Ste ’ . ’ .
- 4
takes 20 minutes to drive from her friend’s house to the motorway \Q o \\Nh e NQ\.Q\\

drives at an average speed of 60 mph on the motorway

takes 25 minutes to drive from the motorway to her home
i iR

Sue stops for a 30 minute rest on her drive home.
(\I\‘I\l\l\lnl‘l‘

Sue leaves her friend’s house at 9.00 am.

What time does Sue get home?
You must show all your working.

Totel Liotance — 2§55 s Ves |
2.0 \S.Eu 4o Asve \Q\Slﬁh $O &\Q\Q\v\?\,

1O = Zhe = BOmph
ia?\\:\&\v %S\V\,\v AU rules.
240 = 4 hs.

e /o, G4 hes
, ﬁ = iy e &
Totod hote  fo W,Sv o + O mns + 25 mins

v\\v\u \.U‘!x\?u\gw.

—

by + 5 bl

..................... LR Y

(Total 3 marks)
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16.

1Z2_ 1S peeKS

LCM of &) 2, Je.
\1\1‘\ -
Lisa wants to buy some cola for a party. Mv\

T2 (O
She is also going to buy some burgers and some buns. / / / ./ , d /
Cola, burgers and buns are all sold in packs. @ AM@ : @ @
56

Wv.
A
&

There are @

8 cans of cola in a pack
12 burgers ina pack ’ hﬁx\g = 2 2y 2 ¥ 2% S5
10 buns in a pack ( N O

A pack of cola costs £3.95
A pack of burgers costs £4.95
A pack of buns costs £1.95

Lisa is going to buy the same number of cans of cola, and burgers, and buns. — = SQ\ N:m\N\ﬁ
Lisa sees this special offer for cola.

-—

& Cola Offer
= @
_TNlm N&Q&m Buy two packs of cola
|2 Get one pack free
120 _ )2 pasks 7 < |
0 Lx 1S =2

32 S

Only neeAd ro

Pa for (O coln
w““:ﬂ;\\ﬂﬁu'

Get this pack free

-—

Work out the cheapest total price Lisa pays for the cola, the burgers, and the buns.
You must show all your working.

\@&\ M T L3,
/O x ¢ 45 = $4%9.50
[ 2 4. 8F = §£35. 90

..............................................

(Total 6 marks)
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\ NSNH@ [OOCO py x /OO0 sy

17. Change 4.5 km® to m.
6 x 1000 x y0OO

- 1 %\ W\Qﬁb\ \ % \ \w\mb‘g\%\u ........ m®

(Total 2 marks)

18.  Carol and Delia share some money in the ratio 3 : 8 § N\ - fN\.. =S
Delia gets £325 more than Carol gets. D @A .\ Qa MN &uw S & v ts me Ve

Work out how much Carol gets. 1 R\Q\uu \ rw‘ ets.

m\\Uﬁ\}m =535 -» . | pact = \W\vW\.\M.\.nm‘Pﬁ\

Q\OHH\ mx Puq “Qm\hwW\;

(Total 2 marks)
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19. Viv wants to invest £2000 for 2 years in the same bank.

— ey

The International Bank The Friendly Bank
Compound Interest Compound Interest
4% for the first year 5% for the first year

1% for each extra year [ 0.5% for each extra year

At the end of 2 years, Viv wants to have as much money as possible.

Which bank should she invest her £2000 in?

TI® = Roo0ox loe = 2250

; \V%\&woaﬂu
mﬂ NQ%YﬁﬁU%
z_\ﬂ N_QOX_‘O,@\%VmNN_m\_m\O

ﬂ\k\)
VAL e x&@q@\
/\_,__\ ohould [(nIesF N

The FErieadly Bari
e €

(Total 4 marks)
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let petrol=p  ©il= O

20.  One day Sadie and Gohil both buy petrol and oil from the same petrol station.

3 &xO
Sadie buys 30 litres of petrol and 4 litres of oil.

~ Sadie pays a total £46.00 ;
. 2N B
Gohil buys 24 litres of petrol and 8 litres of oil.
Gohil pays a total of £45.20

Find the cost of one litre of petrol and the cost of ong litre of oil.

| Dolve (&.fw ?Qmwxﬁ.

mﬂhﬁ.m . .WQMQ + N\\O — hm\%\w o
(ol — h?n + 8p - §9%46.2°
Make one ﬁs\.\ Q\ Len KN wNS Fthe  Sawse.

Sed € xJ = F\Oﬁ +\m|\m. = §97) .00
Gohd = 2¢p + Yo = X 45 20

oL og = nwum.m\mv _ W..WOIEUE Sub.
. (>

Ay 20 4 &, = 45-2°
320 1+ ,= 45.20 2o
" Poltod] Pt
@L = MM\\ IN.W\ (Total 5 marks)
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. . Le. 10/ = 0.9,
21.  In a sale the normal price of a book is reduced by 10%. ey
The sale price of the book is £4.86

—

Calculate the normal price of the book.

Xt 5L - O 79

BR)

XS 40

\f

(Total 3 marks)
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22. The diagram shows 3 sides of a regular polygon.

Diagram NOT
Z6° W/\IJ accurately drawn

1507

Each interior angle of the regular polygon is 150°.
Work out the number of sides of the regular polygon.

Tyterior \A:% e = [(8§0°~ )5 = 57
\ﬁ\\ @xtesop \F%Pwm odd wp o 5o
Nr@ = Tu/ <. des,

-

LS ke A 4 shape = (03 07

Qs‘?p\ ov \f@? b\:cb
- 8Oy (1A-2) = _mooo

_mNOO ~WGO/\

..............................................................

EO \wv m :oﬁn_u.:m.._av

TOTAL FOR PAPER IS 80 MARKS
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